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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

Define (1) Pole Pitch (2) Back Pitch

Calculate the emf induced in the armature winding of a 4 pole, wave wound,,
DC machine having 728 conductors & running at 1,800 rpm.The flux per
pole is 35mWh.

List the different types of losses occurring in DC motor.

Why transformer rating is in KVA?

State the application of Auto transformer.

Define All Day Efficiency.

A 4 pole wave wound motor having 720 conductor and takes 10 A armature
current. If the value of flux per pole is 0.02 Wb, Find out the torque developed
in armature.

State the law of energy conservation.

State and explain the conditions for the builting up of voltage in dc shunt
generator.

A single phase transformer has 400 primary and 1000 secondary turns. The
net cross sectional of the core is 60 cm? If the primary winding be connected
to a 50Hz supply at 500 V.Calculate maximum value of the flux density in the
core.

State the methods to improve commutation.Explian any one of them.

OR
Write the application of D.C. Generator.
Explain armature reaction in a DC machine.

OR
State and explain the methods of eliminate the armature reaction effect.
Derive the equation for induced E.M.F. of a D.C. generator

OR
Compare lap windings with wave windings.
A short shunt compound wound DC generator supplies a load current of 150A
at 230 V.The generator has Armature winding, series field winding and shunt
field winding resistance are 0.150hm,0.1 ohm & 100 ohm respectively.
Calculate the emf generated, if the brush drop is 2V per brush.

OR
Derive the expression for Demagnetizing and Cross magnetizing Ampere
Turns in DC Generator.

Draw and explain the working of three point DC shunt motor starter.
OR
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Explain the necessity of starter.
State and explain the factors affecting the speed of DC motor.

OR
Explain “Ward-Leonard method” of speed control for D.C. motor.
Derive an expression for the torque developed in a D.C.motor

OR
A 220 V dc shunt motor runs at 760 rpm and takes armature current of 48 A.
Find the resistance to be added to the field circuit to increase the speed of 950
rpm at an armature resistance and field resistance are 0.15 ohm & 240 ohm
respectively.
Explain Swinburn’s Test of D.C. machine.

OR
Draw & explain Speed-current and Speed torque characteristics of a DC Shunt
motor.

State and explain the factors effecting the voltage regulation.
OR
Derive the condition for maximum efficiency of single phase transformer.
Draw and explain the vector diagram of transformer under no load condition.
OR
The equivalent resistance and reactance referred to secondary side of a 1
phase,1100/230 V,50Hz,5 KVA transformer are 0.12 and 0.9 ohm
respectively. Find the full load voltage regulation at power factor of (1) 0.8
legging and 0.8 leading.
Explain the O.C & S.C. test to find out the efficiency of transformer.

Explain doubly excited field system with diagram.

Derive the E.M.F. equation for transformer.

State the necessary conditions for parallel operation of two single phase
transformer.

Explain the working of Auto transformer.
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